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2 A O
5 FREFXBIBRBAODER |
. H o U .
R P 7 | ” HOREE, | Fhs B JLE g HEREL
Rk 18 A 49,328 23,896 25,432 2 151 14,543 259
Rk 19 4 49,392 23,980 25,412 18 46 14,783 240
Rk 20 A 49,394 23,966 25,428 30 -28 14,941 158
Rk 21 A 49,336 23,956 25,380 -50 -8 15,120 179
YRk 22 £ 49,313 23,908 25,405 -51 28 15,226 106
B R ) EREAREEICIS4H 1 BUE
6. i (3R %) BIAQDH#R |
% oAV PE AR N T € F AN R N R
0~147%% 15~64%% 65k LA I - g
WoRk 19 4E 7,426 30,959 11,160 49,545
%L (%) (15.0%) (62.5%) (22.5%)
WoRk 20 4E 7,370 30,689 11,391 49,450
HERLEE (%) (14.9%) (62.1%) (23.0%)
WoRk 21 4E 7,370 30,503 11,592 49,465
RERH (%) (14.9%) (61.7%) (23.4%)
Wk 22 4E 7,276 30,239 11,826 49,341
HERLEE (%) (14.7%) (61.3%) (24.0%)
Rk 23 & 7,244 30,370 11,886 49,500
RERR L (%) (14.6%) (61.4%) (24.0%)
G TR ) EREAREREICISIA A BE
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7. HRAAO, HEHEUEHE

Rk 234E1 A 1H PR16F11 A 1H
oo X [ INEE HAE | A (& DFF)
i 5 S (knd) | Gknd29) (1 sk | A Ok
53 iy 15,375 49,500 24,022 25,478 126.96 390 14,254 49,192
H ) 2,968 8,135 3,904 4,231 5.80 1,403 2,646 7,816
E i 767 2,467 1,220 1,247 3.66 674 729 2,419
th By 472 1,740 827 913 4.78 364 443 1,752
o B OR 616 2,181 1,060 1,121 4.58 476 517 1,955
W T TV 571 1,988 966 1,022 41.68 425 504 1,912
J& i 878 3,075 1,482 1,593 5.17 595 825 3,055
# N 217 852 413 439 3.46 246 211 896
PN 1,301 4,135 2,027 2,108 5.90 701 1,117 3,853
= 4 428 1,597 765 832 4.98 321 405 1,632
I M 1,576 4,604 2,291 2,313 4.07 1,131 1,485 4,533
I s 849 2,869 1,408 1,461 3.35 856 766 2,752
Al T 692 2,209 1,082 1,127 3.25 680 605 1,978
N 85 478 1,670 824 846 5.19 322 442 1,707
M P 579 2,039 996 1,043 8.65 236 567 2,197
Wi A= 402 1,464 630 784 41.88 300 361 1,460
G - B 380 1,358 651 707 9.46 144 377 1,498
My (L 186 513 242 271 14.45 36 200 606
W (L H 746 2,330 1,123 1,207 15.06 155 762 2,545
e =N 668 2,156 1,042 1,114 2.82 765 698 2,364
1 fia 271 924 437 487 9.67 96 274 1,028
il HH 330 1,194 582 612 3.22 371 320 1,234
Bk AR
8. NEAZEFAO
ER%234E1 H 1 HBIAE
e 16 ¥ K 16 DS
£ HHE ] A 0 7 7 7 7
& # 433 520 18 12 185 305
7 7 ¥ ) 56 105 13 7 46 39
T T — 2 2 - - - 2
o 270 304 4 5 112 183
A 4 Ng 1 1 - - 1 -
i fict 2 2 - - 2 -
i 15 16 - - 4 12
<l — 7 1 1 - - - 1
> N — 1 1 - - -
N5 T A 1 1 - - -
7 4B v 64 67 1 - 10 56
= D 7 1 1 - - - 1
* 10 10 - - 6 4
~N b A 6 6 - - 4 2
F—AZUT 1 1 - - - 1
7 42 7 R 1 1 B B - 1
N = —R-k =2 1 1 - - - 1
Rk T AR
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